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BILINGUAL
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ANGLE OF ELEVATION AND

DEPRESSION
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ANGLE OF ELEVATION AND DEPRESSION

Waﬁmaﬁvwaﬁmﬁw g jﬂ%ﬁaﬁ

> Line of sight: The line from our _wa gH ¢

eyes to the object, we are viewing. > W DI W&%

S HIEJH
' > Angle of Elevation: The angle ST % 3@ ) ‘-5 GEsS|

through which our eyes move

> ATH BT BI0T: d:ﬁaolu

upwards to see an object above us. Eqﬁ:[ 3ﬂ@
Angle of d Th | ikl 3
1 > Angle of depression: The angle SIGIRGIE A co|5 d¥d

through which our eyes move

downwards to see an object below
UsS.
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Q:-1. The distance between the tops of two buildin
38 metres and 58 meters and high is 52 meters. What
will be the distance (in metres) between two building?

& SHTLT 38 Hiex T 58 HieX SHT 8, & ofiuf & 7eg g
52 wex 21 T TATLAT F W T W (e F) T ER0?
(a) 46
(b) 42
(c) 44
(d) 48
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Q:-1. The distance between the tops of two buildin
38 metres and 58 meters and high is 52 meters. What
will be the distance (in metres) between two building?

& SHTLT 38 Hiex T 58 HieX SHT 8, & ofiuf & 7eg g
52 wex 21 T TATLAT F W T W (e F) T ER0?
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Q:-2. From a point on a bridge across the river, the
angles of depression of the banks on opposite sides of
the river are 30° and 45° respectively. If the bridge is
at a height of 2.5 m from the banks, then the width of
the river is (take V3 =1.732) 7=l & I U< fhelt favg &
TR o ATHA-HTHA AT TR0 o AFTTHT 1T HHST: 30°
AT 45° g1 T T AT & TR | 2.5 HieL il FATs IX
T, AT ST 6T AT Td13U?

(a) 5.83m

(b) 6.83m

(c) 5.76m

(d) 6.87m
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Q:-2. From a point on a bridge across the river, the
angles of depression of the banks on opposite sides of
the river are 30° and 45° respectively. If the bridge is
at a height of 2.5 m from the banks, then the width of
the river is (take V3 =1.732) 7=l & I U< fhelt favg &
TR o ATHA-HTHA AT TR0 o AFTTHT 1T HHST: 30°
AT 45° g1 T T AT & TR | 2.5 HieL il FATs IX
T, AT ST 6T AT Td13U?

(a) 5.83m
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) SO sL/cPO B o temple, 75
m high, observe the angle of elevation of the top of the
temple to be 30° and 60° respectively. The distance
between the persons is
&1 S{<h, T 75 HieT 39 Hivex & fA9dq I 9T, TH
Heft YaT # @ g ok Hiex & o SHI= 107 q@d g S
T ! 30° 3T TEL I 60° Ttd sIaT gl AT SARRAT &
et et o 87
(a) 173.2m
(b) 100m
(c) 157.7m
(d) 273.2m
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Q:-3. Two persons are on either side of a temple, 75
m high, observe the angle of elevation of the top of the
temple to be 30° and 60° respectively. The distance
between the persons is
&1 ={<h, T 75 Hiex 9 Afvex & foada = 9%, v
HrefT X@T d @8 8 oY "Hia & T SHIAT HI @ g SN0

wF F 30° o TEX AT 60° T BT 21 ST FARFAT F
fror et 1 22

(b) 100m
(c) 157.7m
(d) 273.2m




LShiRsAre salling g8 aonthe two sides
,\I,\,._d. _,,'g_‘._‘“avr no hetO .............. Of
the light house as observed from the two ships are 30°
and 45° respectively. If the light house is 100m high,
the distance between the two ships is : (takev3 =
1.73)

HH H ST IIq TR1M EH 6 AT AL F 9 g gl A1 i |

T @G T THTY T o N & A 197 HHLT: 30° 7
45° g1 Tf< 1L TOH 100 HeX AT g1, qv =1 Trarl &
1= T T FaT30?

(a) 173m

(b) 200m

(c) 273m

§ )Om




EspiRscaresailing iphs segL/n-the two sides
,\I,\,._d. _,,'g_‘._‘“av, no hetO .............. Of
the light house as observed from the two ships are 30°
and 45° respectively. If the light house is 100m high,
the distance between the two ships is : (takev3 =
1.73)
THE H IV I TR TH F AT N F T g gl AT qrar |

T @G T THTY T o N & A 197 HHLT: 30° 7
45° g1 Tf< 1L TOH 100 HeX AT g1, qv =1 Trarl &
1= FT L TATZT?

(a) 173m

(b) 200m
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Q-5 A telegraph post is bent at 2 point above the
ground. Its top just touches the ground at a distance of
8+3 m from its feet and makes an angle of 30° with
the horizontal. The height (in metre) of the post is
T SATITH GHT THIT & JHUL T 6§ T FTHT g3 gl S
it 39 a7 & 83 HY. it T G THIA il TIT FXAT &
3T &fast T 30° T FIOT TATAT 8| GEH hl HATs (hael
(H1eT H) 87
(a) 12
(b) 16
(c) 8
(d) 24
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Q:-5. A telegraph post IS bent at a point above the
ground. Its top just touches the ground at a distance of
8+3 m from its feet and makes an angle of 30° with
the horizontal. The height (in metre) of the post is

T A TITH GHT STHIT & HIL Ueh fog T FHT g3 2l STH
ofts ST a1 | 8+/3 H. T T I THIA il T FLAT 3

T TSt X 30° T I FATAT gl TEA i SHATS Tha =l
(Hex #) 872

(a) 12

(b) 16

(c) 8
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Q:-6. A tree IS broken by the wmd If the top of the tree
struck the ground at an angle of 309, and at a distance
of 30 m from the foot. then what is the height of tree?
3aT: Ueh U gaT § &2 AT gl T(< U 1 e 300 & T 9%
STHI & THAAT 8, L g U & ST & 30 HY il o 9<
FAT g | AT UE &l AT A1d v ?

(a) 10V3m

(b) 30+v/3m

(c) 10 m

(d) 30 m
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Q:-6. A tree IS broken by the wmd If the top of the tree
struck the ground at an angle of 309, and at a distance
of 30 m from the foot. then what is the height of tree?
3aT: Ueh U gaT § &2 AT gl T(< U 1 e 300 & T 9%
STHI & THAAT 8, L g U & ST & 30 HY il o 9<
FAT g | AT UE &l AT A1d v ?

(a) 10V3m

(c) 10 m
(d)30 m




Q:-7. The string of a kite is 30m long and it makes
angle 60° with the horizontal. the height of the kite
above the ground is.

Teh T T &IT 30 HieX 34T gl 3N T8 &fast & 97 60°
0T FATAT 1 T T STHIA § fhaet SaTs I 8?2

(a) 10V3m
(b) 15m
(c) 7.5m




Q:-7. The string of a kite is 30m long and it makes
angle 60° with the horizontal. the height of the kite
above the ground is.

Teh T T &IT 30 HieX 34T gl 3N T8 &fast & 97 60°
0T FATAT 1 T T STHIA § fhaet SaTs I 8?2

(a) 10V3m
(b) 15m




Q:-8. The shadow of a tower isv3 times its height.
Then the angle of elevation of the top of the tower is
TRt @ T AT IThT STz & V3 AT &1 AT @ I g
FT ITAT FHIT TTT HL?

(a) 45°

(b) 30°
(c) 60°
(d) 90°
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Then the angle of elevation of the top of the tower is
TRt @ T AT IThT STz & V3 AT &1 AT @ I g
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(a) 45°
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Q:-9. The angle of elevation of an aeroplane from a point
on the ground is 60°. After 15 seconds flight, the elevation
changes to 30°, If the aeroplane is flying at a height of
15003 m, find the speed of the plane.

Tohell 2aTs STTST T ST I 60° g1 15 e 6t ISTH & d1Q

SHIAT 10T 30° BT ATAT gl Tf AT STarer 150043 dt. AT
U IE LT 2l ATS STGTS =hl AT ST L?

(a) 300 m/sec

(b) 200 m/sec

(c) 100 m/sec

(d) 150 m/sec
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Q:-9. The angle of elevation of an aeroplane from a point
on the ground is 60°. After 15 seconds flight, the elevation
changes to 30°, If the aeroplane is flying at a height of
15003 m, find the speed of the plane.

Tohell 2aTs STTST T ST I 60° g1 15 e 6t ISTH & d1Q

SHIAT 10T 30° BT ATAT gl Tf AT STarer 150043 dt. AT
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(c) 100 m/sec
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=10 If tRe%rgte of ‘efevatidnt of thetop o
from the ground level is raised from 30° to 60° the

length of the shadow of a pillar of height 50 3 will be
decreased by

Fie THHAT T T Foredt @& & i T IHAF H107 30° 9
qETH< 60 FT TIT TTAT F| T G 61 FAT T AFTS

fehaeI1 =T STTUs(T
(a) 60 m

(b) 75 m

(c) 100 m

(d) 50 m







